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Exercice 1

1) x 7→ 1

3
+ λ e−3x

2) x 7→ 1

2
cosx+

1

2
sinx− e−2x+

3

2
e−x

3) x 7→ (λ+ ex) e−x
2

4) x 7→ 2

3
x2 lnx− 4x2

9
+ λ

√
x

5) x 7→ Arctanx− ln(1 + x2)

2x
+

λ

x

6) x 7→ −2 cos2 x+ 4 cosx.

Exercice 2 2) x 7→ − 1

2x
+ λx

Exercice 3

1) Sur R∗

+, x 7→ x2

3
+

λ1

x
. Sur R∗

−
, x 7→ −x2 + λ2x. 2) x 7→

{

x
2

3
si x > 0

−x2 si x < 0

Exercice 4

1) x 7→ λ e2x +µ ex +1− 3x ex

2) x 7→ λ+µ e−4x+
3x2

8
− 3x

16
− 1

20
sin(2x)− 1

10
cos(2x)

3) x 7→ (λx+ µ) e2x − 1

16
sin(2x) +

1

8

4) x 7→ e−x(λ cos x+ µ sinx) +
1

10
ex +

1

2
e−x

Exercice 5 x 7→ λ e2x +µ e− ix où λ ∈ C et µ ∈ C

Exercice 6 x 7→ 9

8
e−x(cosx+ sinx) +

1

8
ex(sinx− cosx)

Exercice 7

1) x 7→
{

λ cosx+ µ sinx+ x+ 1 si x > 0

λ cosx+ (2 + µ) sinx− x+ 1 si x < 0
2) x 7→

{

λ e2x+µ e−2x− 1

3
e2x si x > 0

(λ − 1

6
) e2x+(µ+ 1

6
) e−2x− 1

3
e−x si x < 0

Exercice 8 Si m 6= ±2, x 7→ λ cos(2x) + µ sin(2x) +
cos(mx)

4−m2

Si m = ±2, x 7→ λ cos(2x) + µ sin(2x) +
1

8
cos(2x) +

1

4
x sin(2x)

Exercice 9 1) (F ) z′′ + 2z′ + z = 0 3) x 7→ λ lnx+ µ

x
.

Exercice 10 x 7→ λ
1√

1 + x2
+ µ

x√
1 + x2

.

Exercice 11 x 7→ λ cosx+ µ sinx+ ν e−x où (λ, µ, ν) ∈ R
3

Exercice 12 x 7→ λx+ µ ln(x)

Exercice 13 x(t) = λ e−t +µ e2t +
1

2
et et y(t) = 2λ e−t −µ e2t

Exercice 14 x 7→ λ(
e−1 −1

2
+ e−x)

1


